
Mounting instructions

Welding Worktop
1-400 & 1-401



1x

2x

2x

1x

1x

12x 2x 8x 6x 1x 1x

M8x20 M8x40 M88x16x1.5 13-17 mm 6 mm

Mounting instructions

Welding Worktop
AI 1-400, 1-401



STEP1:
Assemble legs and table top.
DON'T tighten the bolts

8x

8x16x1.5

8x

M8x20

Mounting instructions

Welding Worktop
AI 1-400, 1-401



4x

M8

4x

M8x20

STEP2:
Assemble the shelf
Tighten all of the bolts

Mounting instructions

Welding Worktop
AI 1-400, 1-401



STEP3:
Assemble the Welding gun holder
Put the lids on table top and finish

2x

M8

2x

M8x40

Mounting instructions

Welding Worktop
AI 1-400, 1-401


	1
	Drawing View21
	Drawing View55

	2
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43

	3
	Drawing View44
	Detail View A (1 : 2)
	Drawing View46
	Drawing View47

	4
	Drawing View48
	Detail View C (1 : 2)
	Drawing View50
	Drawing View51

	5
	Drawing View56
	Detail View E (1 : 3)
	Detail View F (1 : 2)
	Drawing View59
	Drawing View60


